INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, ECONOMICS & MANAGEMENT



A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories Indexed & Listed at:

Ulrich's Periodicals Directory ©, ProQuest, U.S.A., EBSCO Publishing, U.S.A., Cabell's Directories of Publishing Opportunities, U.S.A., Open J-Gage, India [link of the same is duly available at Inflibnet of University Grants Commission (U.G.C.)],

The American Economic Association's electronic bibliography, EconLit, U.S.A.,

Index Copernicus Publishers Panel, Poland with IC Value of 5.09 & number of libraries all around the world. Circulated all over the world & Google has verified that scholars of more than 3770 Cities in 175 countries/territories are visiting our journal on regular basis. Ground Floor, Building No. 1041-C-1, Devi Bhawan Bazar, JAGADHRI – 135 003, Yamunanagar, Haryana, INDIA

http://ijrcm.org.in/

ii

CONTENTS

Sr.		Page
No.	TITLE & NAME OF THE AUTHOR (S)	No.
1.	MAHATMA GANDHI NREGS: TOWARDS EMBRACING FINANCIAL INCLUSION V.AMBILIKUMAR, M.S.RAJU, MATHEW SEBASTIAN & ANUSREE H.	1
2.	PROBLEMS AND PROSPECTS OF FRUIT PROCESSING INDUSTRY: A STUDY WITH REFERENCE TO	5
	CHITTOOR DISTRICT OF ANDHRA PRADESH	
	G. SURESH BABU & MAMILLA.RAJASEKHAR	
3.	ORGANIZATION JUSTICE TOWARDS COUNTERPRODUCTIVE WORK BEHAVIOR IN BANKING SECTOR	10
4		10
4.	DR S RAIAMOHAN & D IOEI IERADIJRAJ	19
5	COMPARATIVE PERFORMANCE EVALUATION OF SELECTED AUTOMOBILE COMPANIES IN INDIA	25
9.	USING EVA AND MVA MEASURES	20
	DR. KULDEEP KUMAR	
6.	MUTUAL FUND PERFORMANCE: AN EMPIRICAL INVESTIGATION OF SELECTED EQUITY DIVERSIFIED	30
	SCHEMES IN INDIA	
	AKSHATHA SUVARNA & DR. ISHWARA P.	
7.	COMPOSITIONAL CHANGES IN IRANIAN TRADE BASKET OF LIVESTOCK SECTOR	37
	MASSOUMEH N. ZADEH, BITAN MONDAL, RAKA SAXENA & SMITA SIROHI	
8.	CUSTOMERS' SATISFACTION REGARDING LIQUIDITY IN MUTUAL FUND: A STUDY	43
0	LIEE OF AND CHALLENGES FACED BY AFPICAN STUDENTS IN TAMIL NADIL INDIA: A QUALITATIVE	47
9.	STUDY	47
	DR. G. YOGANANDAN	
10	UNORGANIZED INFORMAL SECTOR AND FEMALE LABOUR IN REFERENCE TO CITIES OF UTTAR	50
20.	PRADESH	
	DR. VANDANA MITTAL	L
11.	WAGNER'S LAW IN INDIA: AN EMPIRICAL ANALYSIS	54
	AMITA	
12.	A STUDY ON MONOPOLY PROCUREMENT SYSTEM OF PADDY IN TIRUVARUR DISTRICT, TAMIL NADU	60
12	A STUDY OF CSR IN INDIA	63
15.	KOMAL CHAUDHARY	03
14.	ASSESSMENT OF SMALL SCALE FISHERS' LIVELIHOOD STATUS IN THE BATTICALOA DISTRICT OF SRI	66
	LANKA	
	SARAVANAMUTTHU JEYARAJAH & SELVARATHNAM SANTHIRASEGARAM	
15 .	CRITICAL SUCCESS FACTORS FOR INNOVATION: AN EMPIRICAL ANALYSIS ON TEA INDUSTRY IN SRI	69
	LANKA	
	K.M.V. SACHITRA & DR. P.J. KUMARASINGHE	
16.		75
17	PROSPECTS OF ECOTOLIRISM IN BIHAR	07
17.	VAIBHAV KUMAR CHAUHAN	02
18	PROMOTING FINANCIAL INCLUSION IN RURAL AREAS THROUGH CO-OPERATIVE BANKS: WITH	85
10.	SPECIAL REFERENCE TO DCCB, PADERU AGENCY	05
	S. KANAKA DURGA DEVI	
19.	ECONOMIC IMPACT OF TOURISM ON RESIDENTS OF JAMMU AND KASHMIR STATE	89
	SUTINDER SINGH	
20 .	A CONCEPTUAL PAPER ON CROWDFUNDING WITH REFERENCE TO ENTREPRENEURS AND INVESTORS	91
	DAKSHANA IHAKER	
	REQUEST FOR FEEDBACK & DISCLAIMER	94

<u>CHIEF PATRON</u>

PROF. K. K. AGGARWAL

Chairman, Malaviya National Institute of Technology, Jaipur (An institute of National Importance & fully funded by Ministry of Human Resource Development, Government of India) Chancellor, K. R. Mangalam University, Gurgaon Chancellor, Lingaya's University, Faridabad Founder Vice-Chancellor (1998-2008), Guru Gobind Singh Indraprastha University, Delhi Ex. Pro Vice-Chancellor, Guru Jambheshwar University, Hisar



LATE SH. RAM BHAJAN AGGARWAL Former State Minister for Home & Tourism, Government of Haryana Former Vice-President, Dadri Education Society, Charkhi Dadri Former President, Chinar Syntex Ltd. (Textile Mills), Bhiwani

CO-ORDINATOR

DR. BHAVET Faculty, Shree Ram Institute of Business & Management, Urjani

<u>ADVISORS</u>

DR. PRIYA RANJAN TRIVEDI Chancellor, The Global Open University, Nagaland PROF. M. S. SENAM RAJU Director A. C. D., School of Management Studies, I.G.N.O.U., New Delhi PROF. M. N. SHARMA Chairman, M.B.A., HaryanaCollege of Technology & Management, Kaithal PROF. S. L. MAHANDRU Principal (Retd.), MaharajaAgrasenCollege, Jagadhri

EDITOR

PROF. R. K. SHARMA Professor, Bharti Vidyapeeth University Institute of Management & Research, New Delhi

CO-EDITOR

DR. SAMBHAV GARG Faculty, Shree Ram Institute of Business & Management, Urjani

EDITORIAL ADVISORY BOARD

DR. RAJESH MODI Faculty, Yanbu Industrial College, Kingdom of Saudi Arabia PROF. SIKANDER KUMAR

Chairman, Department of Economics, HimachalPradeshUniversity, Shimla, Himachal Pradesh

PROF. SANJIV MITTAL

UniversitySchool of Management Studies, GuruGobindSinghI. P. University, Delhi

PROF. RAJENDER GUPTA

Convener, Board of Studies in Economics, University of Jammu, Jammu

INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, ECONOMICS & MANAGEMENT

A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories http://ijrcm.org.in/

PROF. NAWAB ALI KHAN

Department of Commerce, Aligarh Muslim University, Aligarh, U.P.

PROF. S. P. TIWARI

Head, Department of Economics & Rural Development, Dr. Ram Manohar Lohia Avadh University, Faizabad

DR. ANIL CHANDHOK

Professor, Faculty of Management, Maharishi Markandeshwar University, Mullana, Ambala, Haryana

DR. ASHOK KUMAR CHAUHAN

Reader, Department of Economics, KurukshetraUniversity, Kurukshetra

DR. SAMBHAVNA

Faculty, I.I.T.M., Delhi

DR. MOHENDER KUMAR GUPTA

Associate Professor, P.J.L.N.GovernmentCollege, Faridabad

DR. VIVEK CHAWLA

Associate Professor, Kurukshetra University, Kurukshetra

DR. SHIVAKUMAR DEENE

Asst. Professor, Dept. of Commerce, School of Business Studies, Central University of Karnataka, Gulbarga

ASSOCIATE EDITORS

PROF. ABHAY BANSAL Head, Department of Information Technology, Amity School of Engineering & Technology, Amity University, Noida PARVEEN KHURANA Associate Professor, MukandLalNationalCollege, Yamuna Nagar SHASHI KHURANA Associate Professor, S.M.S.KhalsaLubanaGirlsCollege, Barara, Ambala SUNIL KUMAR KARWASRA Principal, AakashCollege of Education, ChanderKalan, Tohana, Fatehabad DR. VIKAS CHOUDHARY Asst. Professor, N.I.T. (University), Kurukshetra

TECHNICAL ADVISOR

AMITA Faculty, Government M. S., Mohali

FINANCIAL ADVISORS

DICKIN GOYAL Advocate & Tax Adviser, Panchkula NEENA Investment Consultant, Chambaghat, Solan, Himachal Pradesh

LEGAL ADVISORS

JITENDER S. CHAHAL Advocate, Punjab & Haryana High Court, Chandigarh U.T. CHANDER BHUSHAN SHARMA Advocate & Consultant, District Courts, Yamunanagar at Jagadhri

<u>SUPERINTENDENT</u>

SURENDER KUMAR POONIA

INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, ECONOMICS & MANAGEMENT A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories <u>http://ijrcm.org.in/</u>

CALL FOR MANUSCRIPTS

We invite unpublished novel, original, empirical and high quality research work pertaining to recent developments & practices in the areas of Computer Science & Applications; Commerce; Business; Finance; Marketing; Human Resource Management; General Management; Banking; Economics; Tourism Administration & Management; Education; Law; Library & Information Science; Defence & Strategic Studies; Electronic Science; Corporate Governance; Industrial Relations; and emerging paradigms in allied subjects like Accounting; Accounting Information Systems; Accounting Theory & Practice; Auditing; Behavioral Accounting; Behavioral Economics; Corporate Finance; Cost Accounting; Econometrics; Economic Development; Economic History; Financial Institutions & Markets; Financial Services; Fiscal Policy; Government & Non Profit Accounting; Industrial Organization; International Economics & Trade; International Finance; Macro Economics; Micro Economics; Rural Economics; Co-operation; Demography: Development Planning; Development Studies; Applied Economics; Development Economics; Business Economics; Monetary Policy; Public Policy Economics; Real Estate; Regional Economics; Political Science; Continuing Education; Labour Welfare; Philosophy; Psychology; Sociology; Tax Accounting; Advertising & Promotion Management; Management Information Systems (MIS); Business Law; Public Responsibility & Ethics; Communication; Direct Marketing; E-Commerce; Global Business; Health Care Administration; Labour Relations & Human Resource Management; Marketing Research; Marketing Theory & Applications; Non-Profit Organizations; Office Administration/Management; Operations Research/Statistics; Organizational Behavior & Theory; Organizational Development; Production/Operations; International Relations; Human Rights & Duties; Public Administration; Population Studies; Purchasing/Materials Management; Retailing; Sales/Selling; Services; Small Business Entrepreneurship; Strategic Management Policy; Technology/Innovation; Tourism & Hospitality; Transportation Distribution; Algorithms; Artificial Intelligence; Compilers & Translation; Computer Aided Design (CAD); Computer Aided Manufacturing; Computer Graphics; Computer Organization & Architecture; Database Structures & Systems; Discrete Structures; Internet; Management Information Systems; Modeling & Simulation; Neural Systems/Neural Networks; Numerical Analysis/Scientific Computing; Object Oriented Programming; Operating Systems; Programming Languages; Robotics; Symbolic & Formal Logic; Web Design and emerging paradigms in allied subjects.

Anybody can submit the **soft copy** of unpublished novel; original; empirical and high quality **research work/manuscript anytime** in <u>M.S. Word format</u> after preparing the same as per our **GUIDELINES FOR SUBMISSION**; at our email address i.e. <u>infoijrcm@gmail.com</u> or online by clicking the link **online submission** as given on our website (<u>FOR ONLINE SUBMISSION, CLICK HERE</u>).

GUIDELINES FOR SUBMISSION OF MANUSCRIPT

1. COVERING LETTER FOR SUBMISSION:

DATED: _____

v

THE EDITOR

Subject: SUBMISSION OF MANUSCRIPT IN THE AREA OF.

(e.g. Finance/Marketing/HRM/General Management/Economics/Psychology/Law/Computer/IT/Engineering/Mathematics/other, please specify)

DEAR SIR/MADAM

Please find my submission of manuscript entitled '_______' for possible publication in your journals.

I hereby affirm that the contents of this manuscript are original. Furthermore, it has neither been published elsewhere in any language fully or partly, nor is it under review for publication elsewhere.

I affirm that all the author (s) have seen and agreed to the submitted version of the manuscript and their inclusion of name (s) as co-author (s).

Also, if my/our manuscript is accepted, I/We agree to comply with the formalities as given on the website of the journal & you are free to publish our contribution in any of your journals.

NAME OF CORRESPONDING AUTHOR:

Designation: Affiliation with full address, contact numbers & Pin Code: Residential address with Pin Code: Mobile Number (s): Landline Number (s): E-mail Address: Alternate E-mail Address:

NOTES:

- a) The whole manuscript is required to be in **ONE MS WORD FILE** only (pdf. version is liable to be rejected without any consideration), which will start from the covering letter, inside the manuscript.
- b) The sender is required to mention the following in the SUBJECT COLUMN of the mail: New Manuscript for Review in the area of (Finance/Marketing/HRM/General Management/Economics/Psychology/Law/Computer/IT/ Engineering/Mathematics/other, please specify)
- c) There is no need to give any text in the body of mail, except the cases where the author wishes to give any specific message w.r.t. to the manuscript.
- d) The total size of the file containing the manuscript is required to be below **500 KB**.
- e) Abstract alone will not be considered for review, and the author is required to submit the complete manuscript in the first instance.
- f) The journal gives acknowledgement w.r.t. the receipt of every email and in case of non-receipt of acknowledgment from the journal, w.r.t. the submission of manuscript, within two days of submission, the corresponding author is required to demand for the same by sending separate mail to the journal.
- 2. MANUSCRIPT TITLE: The title of the paper should be in a 12 point Calibri Font. It should be bold typed, centered and fully capitalised.
- 3. AUTHOR NAME (S) & AFFILIATIONS: The author (s) full name, designation, affiliation (s), address, mobile/landline numbers, and email/alternate email address should be in italic & 11-point Calibri Font. It must be centered underneath the title.
- 4. **ABSTRACT**: Abstract should be in fully italicized text, not exceeding 250 words. The abstract must be informative and explain the background, aims, methods, results & conclusion in a single para. Abbreviations must be mentioned in full.

- 5. **KEYWORDS:** Abstract must be followed by a list of keywords, subject to the maximum of five. These should be arranged in alphabetic order separated by commas and full stops at the end.
- 6. **MANUSCRIPT**: Manuscript must be in <u>BRITISH ENGLISH</u> prepared on a standard A4 size <u>PORTRAIT SETTING PAPER</u>. It must be prepared on a single space and single column with 1" margin set for top, bottom, left and right. It should be typed in 8 point Calibri Font with page numbers at the bottom and centre of every page. It should be free from grammatical, spelling and punctuation errors and must be thoroughly edited.
- 7. **HEADINGS**: All the headings should be in a 10 point Calibri Font. These must be bold-faced, aligned left and fully capitalised. Leave a blank line before each heading.
- 8. SUB-HEADINGS: All the sub-headings should be in a 8 point Calibri Font. These must be bold-faced, aligned left and fully capitalised.
- 9. MAIN TEXT: The main text should follow the following sequence:

INTRODUCTION

REVIEW OF LITERATURE

NEED/IMPORTANCE OF THE STUDY

STATEMENT OF THE PROBLEM

OBJECTIVES

HYPOTHESES

RESEARCH METHODOLOGY

RESULTS & DISCUSSION

FINDINGS

RECOMMENDATIONS/SUGGESTIONS

CONCLUSIONS

SCOPE FOR FURTHER RESEARCH

ACKNOWLEDGMENTS

REFERENCES

APPENDIX/ANNEXURE

It should be in a 8 point Calibri Font, single spaced and justified. The manuscript should preferably not exceed 5000 WORDS.

- 10. FIGURES &TABLES: These should be simple, crystal clear, centered, separately numbered & self explained, and titles must be above the table/figure. Sources of data should be mentioned below the table/figure. It should be ensured that the tables/figures are referred to from the main text.
- 11. EQUATIONS: These should be consecutively numbered in parentheses, horizontally centered with equation number placed at the right.
- 12. **REFERENCES:** The list of all references should be alphabetically arranged. The author (s) should mention only the actually utilised references in the preparation of manuscript and they are supposed to follow **Harvard Style of Referencing**. The author (s) are supposed to follow the references as per the following:
- All works cited in the text (including sources for tables and figures) should be listed alphabetically.
- Use (ed.) for one editor, and (ed.s) for multiple editors.
- When listing two or more works by one author, use --- (20xx), such as after Kohl (1997), use --- (2001), etc, in chronologically ascending order.
- Indicate (opening and closing) page numbers for articles in journals and for chapters in books.
- The title of books and journals should be in italics. Double quotation marks are used for titles of journal articles, book chapters, dissertations, reports, working papers, unpublished material, etc.
- For titles in a language other than English, provide an English translation in parentheses.
- The location of endnotes within the text should be indicated by superscript numbers.

PLEASE USE THE FOLLOWING FOR STYLE AND PUNCTUATION IN REFERENCES:

BOOKS

- Bowersox, Donald J., Closs, David J., (1996), "Logistical Management." Tata McGraw, Hill, New Delhi.
- Hunker, H.L. and A.J. Wright (1963), "Factors of Industrial Location in Ohio" Ohio State University, Nigeria.

CONTRIBUTIONS TO BOOKS

 Sharma T., Kwatra, G. (2008) Effectiveness of Social Advertising: A Study of Selected Campaigns, Corporate Social Responsibility, Edited by David Crowther & Nicholas Capaldi, Ashgate Research Companion to Corporate Social Responsibility, Chapter 15, pp 287-303.

IOURNAL AND OTHER ARTICLES

 Schemenner, R.W., Huber, J.C. and Cook, R.L. (1987), "Geographic Differences and the Location of New Manufacturing Facilities," Journal of Urban Economics, Vol. 21, No. 1, pp. 83-104.

CONFERENCE PAPERS

Garg, Sambhav (2011): "Business Ethics" Paper presented at the Annual International Conference for the All India Management Association, New Delhi, India, 19–22 June.

UNPUBLISHED DISSERTATIONS AND THESES

Kumar S. (2011): "Customer Value: A Comparative Study of Rural and Urban Customers," Thesis, Kurukshetra University, Kurukshetra.

ONLINE RESOURCES

Always indicate the date that the source was accessed, as online resources are frequently updated or removed.

WEBSITES

Garg, Bhavet (2011): Towards a New Natural Gas Policy, Political Weekly, Viewed on January 01, 2012 http://epw.in/user/viewabstract.jsp

INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, ECONOMICS & MANAGEMENT

A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories

http://ijrcm.org.in/

ISSN 2231-4245

WAGNER'S LAW IN INDIA: AN EMPIRICAL ANALYSIS

AMITA ASST. PROFESSOR DEPARTMENT OF ECONOMICS RPS DEGREE COLLEGE MAHENDERGARH

ABSTRACT

This paper analyzes the applicability of Wagner's law in Indian economy using time series annual data over the period from 1970 to 2012 for India. This study keeps a special focus to check the validity and applicability of six versions of Wagner's hypothesis, which support the existence of short run as well as long run relationship between Economic growth and Public expenditure. For find out the applicability of Wagner's law various econometric techniques (Co-integration, VECM, Granger Causality) were used. Granger Causality analysis confirms that both economic growth and Public expenditure have in both sides i.e. unidirectional, bidirectional. Therefore the findings of this study pay a broader role to understand the relationship between economic growth and public expenditure in context of Indian economy.

KEYWORDS

Wagner's Law, Economic Growth, Public Expenditure, Co-integration, Vector Error Correction Model.

1. INTRODUCTION

elfare of the society is the main drive for the government. It is urgently required in all the developed and developing countries to meet-out the balance between the development and the role of the government. After the World War 2nd, every country had tried to achieve rapid economic growth and a sharp increase in public expenditures as well as GDP. Every government also tries to avoid the condition of fiscal deficit and to control their Public Expenditure and Revenue. In this order fiscal policy is the centre point of development, which is the fundamental instrument to control the trade cycle in the economy. Fiscal policy has considered a centre stage in policy making. It is a tool in the hand of government, through which every economy attempt to promote its developmental growth. In India the government is playing a crucial role to maximize the welfare of society through its revenue. It has been observed that the role of government has increased with the passage of time despite having privatization but in the sense of regulations. There is continuous increase in expenditure whereas there is not much increase in growth in GDP. Therefore a need arises to see that whether the increase in public expenditure is really supports increase in the growth. For this purpose, Adolph Wagner has introduced a law that is known as "Wagner's Law", which states that the role of government increases with the economic growth.

Adolph Wagner (1835-1917), German economists who has formulated the law of increasing public expenditures in 1883 which is popularly known as hypothesis of Wagner's law. He is best known for his principle of 'increasing state intervention in industrializing nation'. The law suggests that the share of public sectors in the economy rises as economic growth increases. Wagner observed the existence of relationship between economic growth and public spending and later formulated a law of increasing state activity. The primary idea behind this relationship is that the growth in public expenditure is a natural consequence of economic growth. In other words, the percentage share of public expenditure increases with an increase in Gross Domestic Product (GDP). Further, Wagner hypothesis emphasizes that in the process of economic development. The government's economic activity increases relative to private economic activity. According to Wagner, the reason behind the states activities is a practical approach and is not based upon any formula. So, Wagner offers three reasons¹ for this: **First**, with economic growth industrialization and modernization would take place which will diminish the role of public sector for private one. This continuous diminishing share of public sector in the economic activity leads to more government expenditure for regulating the private sector. **Second**, the rise in real income would lead to more demand for basic infrastructure particularly education and health facilities. Wagner asserts that it is the government who can provide these facilities more efficiently than private sector. And **third**, to remove the monopolistic tendencies in a country and to enhance economic efficiency in that sector where large amount of investment is required, government should come forward and invest in that particular area which will again increase public expenditure. He first observed it for his own country and then the other countries. Wagner's hypothesis is a contrast to Keynesian hypothesis.

The paper set out as follows. Section 1 discusses introduction and review of national and international literature pertaining to the study. Section 2 briefly outlines the methodological frame work to check the stationary, co-integration, rate of error correction and direction of relationship among the variables. Section 3 presents the results of ADF and PP, Co-integration, Vector Error Correction Models and Granger Causality tests. Section 4 contains concluding remarks.

1.2 PREVIOUS EMPIRICAL STUDIES

Wagner's hypothesis has examined by many economists and a number of empirical investigations of its validity in both developed and developing economies have yielded mixed results. Ray and Ray (2012), Verma and Arora (2010), Sahoo (2001) found that economic growth and Public expenditure were mutually causing each other and there is long run relationship is found among these variables. But Chandra (2004) found that the government did not act as an engine of growth either in the short or in long run in India during 1950-96. On the other hand Singh and Sahni (1984) investigated that the growth in Public expenditure causes and effects the growth in national income. On the basis of empirical evidence they found that in Indian economy context both the hypotheses (Wagnerian and Keynesian) were mutually work and they cause each other. Kesavarajah (2012) showed that in Bangladesh total expenditure was slightly increased while in Sri Lanka, India and Pakistan it had slightly declined. In Sri Lankan economy percentage of public expenditure in AGRI sector has declined while as in defense EDU, HEL and TRC it has increased over the years. Co integration and ECM test results showed that the existence of short run as well as long run relationship between GDP and Public expenditure. According to Granger casualty test results confirmed that Wagner's law does not exist in case of Sri Lanka. Magazzio (2012) examined six versions of Wagner's law in EU-27 for the post-war period 1970-2009. According to Granger Causality test results that Wagner's law applicable in case of Belgium and Ireland while it followed the opposite direction in Denmark, Finland, France and Ireland. Ghorbani and Zarea (2009) found that Wagner's law is accepted in Iran's economy during 1960-2000. Bagdigen and Cetintas (2008) explored that there was no co-integration between GDP and Public expenditure which means that there was no long run relationship between Public expenditure and GDP for the Turkish case. In case of Pakistan there are different views of researchers that Rehmanet. al. (2007) found that the long run relationship between government expenditure and determinants of growth like per capita income in Pakistan. Afzal and Abbas (2010) explored that Wagner's Hypotheses in Pakistan economy. But on the other hand Rauf, Qayum and Zaman (2012) examined that neither Wagner's hypotheses nor Keynesian hypotheses did not hold in case of Pakistan during the period 1979 to 2009. Husain (2011) According to findings of this study Sri Lanka spent more on education and health sectors as compared to Pakistan and India but both countries (India, Pakistan) spent a huge amount on defense sector (non-economic sector).

Public expenditure incurred by public authorities like central, state and local governments to satisfy the collective social wants of the people is known as public expenditure. In any country the public expenditure is required to promote rapid economic development, trade and commerce, agricultural and industrial sectors, rural development, balanced regional growth, full-employment and maintain price stability, mineral resources like coal and oil, socio-economic

¹Kesavarajah, M., (2012), Wagner's Law in Sri Lanka: An Econometric Analysis, ISRN Economics, Article ID 573826

INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, ECONOMICS & MANAGEMENT A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories http://ijrcm.org.in/

VOLUME NO. 5 (2015), ISSUE NO. 01 (JANUARY)

ISSN 2231-4245

overheads eg. Roadways, railways, power etc. and to ensure an equitable distribution of the resources. A striking feature of public expenditure in India is its continuous increase since independence. After independence, India took the responsibility of establishing a welfare state based on a planned economic development. The main objective is to promote the economic and social well-being of the people which enforced the government to come forward and spend for enhancing economic and social welfare. Thus, a continuous upward trend has been observed in public expenditure of the Indian government. After introduction of Liberalization, Privatization and Globalization (LPG) in India GDP has increased continuously. Private hands try to collect only their welfare but not the welfare of the society. Therefore, the government has taken responsibility of society's welfare and for this purpose Central and State governments are spending into mainly two forms like Revenue Expenditure and Capital Expenditure.

2. DATABASE AND METHODOLOGY

The present study is based on secondary data that covers the period from 1970-71 to 2011-12. Time series annually data for 42 observations has been utilized in this study. The study covers selected independent variables GDP, the indicator of income denoted by LY, Per capita income (LYP) and dependent variables Government expenditure (LGE), Real expenditure (LRE), real per capita expenditure (LREP), nominal per capita expenditure (LNEY), Government final consumption expenditure (LGFCE). The data has been collected from Hand book of Statistic on Indian Economy 2011-12 and annual report of (2000-01) published by Reserve Bank of India (RBI).Similarly, to neutralize the impact of increase or decrease in prices, all the variables have been deflated at 2004-05 prices by using appropriate deflators.

S. No.	Versions	Regression Equation
1	Peacock-Wiseman (1961)	LNGE = a + bLNGDP + u
2	Gupta (1967)	LN (GE/P) = a + bLN (GDP/P) + u
3	Goff man (1968)	LNGE = a + bLN (GDP/P) + u
4	Pryor (1969)	LNGCE = a + bLNGDP + u
5	Musgrave (1969)	LN (NGE/NGDP) = a + bLN (GDP/P) + u
6	Mann (1980)	LN (NGE/NGDP) = a + bLNGDP + u

TABLE 1: REGRESSION FORM OF SIX VERSIONS OF WAGNER'S LAV	TABLE 1: REGRESSIO	N FORM OF SIX VERSION	S OF WAGNER'S LAW
--	--------------------	-----------------------	-------------------

Source: Verma, S. and R. Arora (2010), Does the Indian economy Support Wagner's Law? An Econometric Analysis, Eurasian Journal of Business and Economics, 3 (5), pp. 77-91

For eliminating the base difference, the natural logarithms of the entire variable have been utilized. Before using the data firstly need to consider the impact of Structural shift in Indian economy on growth elasticity of public expenditure following dummy variables² have been introduced: INTERCEPT DUMMIES

D ₁ ={	1: if $1970 \le t \le 1990$	And	$\mathbf{D}_{i} = \mathbf{f}$	1: if t > 1991
	0: otherwise	Anu	$D_2 = \{$	o: otherwise

Slope dummies: $Z_1 = D_1 x X_t$ and $Z_2 = D_2 x X_t$

Where the dummy D_1 represents the first phase of economic liberalization from (1970-71 to 1990-91), and D2 represents the second phase of economic liberalization phase from (1990-91 onwards), both are shown the structural shift in Indian economy.

To test the validity of Wagner's hypothesis in Indian economy, Johansion co- integration, Vector error correction model, Granger Causality test have been utilized to test the relationship between economic growth and public expenditure. The estimation procedure involves three steps. The first step is to test for stationarity of the time series data with the help of unit root (ADF) and PP tests. The presence of unit root makes the regression test results more spurious³ and these results disturb the accuracy of the estimated parameters. Both Augmented Dickey Fuller (ADF) and Phillips Perron (PP) tests are applied to the Level form and First Difference in logarithms term of the series form two models: Intercept and Trend and Intercept.

3. EMPIRICAL RESULTS

UNIT ROOT TEST

The first step of Johansion Co-integration approach is to test the presence of unit root in time series variables. For this purpose Augmented Dickey Fuller (ADF) and Phillips Perron (PP) tests have been utilized. The results of unit root test (ADF and PP) tests are exhibited in table 4.1. The ADF and PP tests are performed for the two models; intercept as well as trend and intercept. Both models are performed on the level as well as first difference of the series.



INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, ECONOMICS & MANAGEMENT A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories http://ijrcm.org.in/

²Verma, S. and R. Arora (2010), Does the Indian economy Support Wagner's Law? An Econometric Analysis, Eurasian Journal of Business and Economics, 3 (5), pp. 77-91.

³A problem of spurious regression can occur when two time series variables in a regression are highly correlated whereas there is no actual relationship between them. High correlation is due to the existence of time trends in both time series variables (Granger and Newbold, 1974).

56

TABLE 2 Unit Root Test on Variables								
Variables	Variables Model ADF Test Statistic PP Test Statistic							
Variables	Mouel	Level	First Difference	Level	First Difference			
LY	Intercept	3.6288*	-5.9202*	4.7799	-5.9670*			
		(-3,6009)	(-3.6056)	(-3,6009)	(-3.6056)			
	Trend & Intercept	-1.3404	-8.0356*	-1.2679	-9.5266*			
		(-4.1985)	(-4.2050)	(-4.1985)	(-4.2050)			
LE	Intercept	-1.1061	-6.6453*	-1.4959	-6.6877*			
		(-3.6009)	(-3.6056)	(-3.6009)	(-3.6056)			
	Trend & Intercept	-1.9285	-6.6390*	-1.8825	-6.7094*			
		(-4.1985)	(-4.2050)	(-4.1985)	(-4.2050)			
LRE	Intercept	0.2215	-6.4856*	0.595	-6.5217*			
	•	(-3.6009)	(-3.6056)	(-3.6009)	(-3.6056)			
	Trend & Intercept	-2.4582	-6.5259*	-2.5727	-6.5810*			
	-	(-4.1985)	(-4.2050)	(-4.1985)	(-4.2050)			
LREP	Intercept	0.3342	-6.6409*	0.8441	-6.6577*			
		(-3.6009)	(-3.6056)	(-3.6009)	(-3.6056)			
	Trend & Intercept	-2.1776	-6.7717*	-2.2454	-6.8465*			
		(-4.1985)	(-4.2050)	(-4.1985)	(-4.2050)			
LGFCE	Intercept	-3.3698	-7.0467*	-3.3271	-14.6487*			
		(-3.6009)	(-3.6056)	(-3.6009)	(-3.6056)			
	Trend &Intercept	-3.330243	-6.957378*	-3.236324	-14.34461*			
		(-4.1985)	(-4.2050)	(-4.1985)	(-4.2050)			
LRGFCE	Intercept	-1.330596	-7.277697*	-1.046543	-13.07536*			
		(-3.6009)	(-3.6056)	(-3.6009)	(-3.6056)			
	Trend & Intercept	-3.254529	-7.205677*	- <mark>3.24</mark> 6688	-14.23947*			
		(-4.1985)	(-4.2050)	(- <mark>4.1</mark> 985)	(-4.2050)			
LYP	Intercept	4.274679*	-5.287147*	5.323949	-5.367194*			
		(-3.6009)	(-3.6056)	(-3.6009)	(-3.6056)			
	Trend & Intercept	-0.957948	-7.85 <mark>494</mark> 9*	-0.957948	-9.2049*			
		(-4.1985)	(-4.2050)	(-4.1985)	(-4.2050)			
LNEY	Intercept	-2.929392	-6.061557*	-2.94964	-6.27485*			
		(-3.6009)	(-3.6056)	(-3.6009)	(-3.6056)			
	Trend & Intercept	-2.560413	-4.715949*	-2.476065	-6.566164*			
		(- <mark>4.19</mark> 85)	(-4.2050)	(-4.1985)	(-4.2050)			
LEP	Intercept	-0.643789	-6.683824*	-0.860661	-6.776689*			
		(- <mark>3.6</mark> 009)	(-3.6056)	(-3.6009)	(-3.6056)			
	Trend & Intercept	-2.178472	-6.607156*	-2.152848	-6.714455*			
		(-4.1985)	(-4.2050)	(-4.1985)	(-4.2050)			

Note: * indicates significant at 1 percent level. Brackets () contain critical values.

The result of the unit root and PP indicates that all the variables are non- stationary in level form for the intercept model except LY (log of GDP) and LYP (log of per capita income) at one percent level of significance but all the variables are non- stationary in level form for the trend and intercept model. Whereas, all the variables are in the stationary in first difference for both Intercept and Trend & Intercept models. So now, co- integration model can be applied on the given data series.

CO-INTEGRATION TEST

The stationary behavior of the series fulfils the criteria of estimating the co-integration model. In the co-integration, study utilized the Johansen co-integration methodology. This technique is more robust in the case of more than two variables. To test the existence of co-integrating Vectors for the six versions of Wagner's law (Peacock & Wiseman, Gupta, Goffman, Pryor, Musgrave and Mann), Johansen Test and max Statistics have been used. In general, there can be up to two Co-integrating vectors for all versions. The test results have been presented in below given table.

Sr. no.	Variables	Null Hypothesis	Alternative Hypothesis	Eigenvalue	Max-Eigen	Trace Statistic	Critical Value (0.5%)	Prob.
1	LRE,LY & DV	r=0	r>0	0.5144	28.8970	50.0831	42.9153	0.0082
	(Peacock & Wiseman)	r≤1	r>1	0.3440	16.8609	21.1861	25.8721	0.1717
		r≤2	r>2	0.1025	4.3252	4.3252	12.5180	0.6947
2	LREP,LYP & DV	r=0	r>0	0.5257	29.8364	51.7136	42.9153	0.0053
	(Gupta)	r≤1	r>1	0.3504	17.2548	21.8773	25.8721	0.1451
		r≤2	r>2	0.1091	4.6225	4.6225	12.5180	0.6511
3	LRE, LYP & DV	r=0	r>0	0.5350	30.6278	53.2603	42.9153	0.0034
	(Goff man)	r≤1	r>1	0.3605	17.8811	22.6325	25.8721	0.1201
		r≤2	r>2	0.1120	4.7514	4.7514	12.5180	0.6324
4	LRGFCE, LY & DV (Pryor)	r=0	r>0	0.4071	20.9124	36.8022	42.9153	0.1785
		r≤1	r>1	0.2606	12.0792	15.8898	25.8721	0.5014
		r≤2	r>2	0.0909	3.8107	3.8107	12.5180	0.7693
5	LNEY, LYP & DV (Musgrave)	r=0	r>0	0.5342	30.5634	51.0749	42.9153	0.0063
		r≤1	r>1	0.3293	15.9757	20.5115	25.8721	0.2011
		r≤2	r>2	0.1072	4.5358	4.5358	12.5180	0.6638
6	LNEY, LY & DV	r=0	r>0	0.5158	29.0072	47.9577	42.9153	0.0145
	(Mann)	r≤1	r>1	0.3064	14.6318	18.9505	25.8721	0.2837
		r≤2	r>2	0.1023	4.3187	4.3187	12.5180	0.6957
* indicates Conjust constitue of 50/ local of circuiticance								

* indicates Co integration equation at 5% level of significance. The Johansen Co-integration Test results show that Peacock & Wiseman, Gupta, Goffman, Musgrave and Mann versions trace statistic have been rejected at

null hypothesis but accept at degree one. So all these five versions have been one co-integrating relationship among economic growth and public expenditure except **Pryor** version in India. In Pryor version null hypothesis is accepted at zero co-integrating relationship. So VECM model can not apply on Pryor version.

INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, ECONOMICS & MANAGEMENT A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories http://ijrcm.org.in/

Long r	un						
S. N.	Versions	dependent Variable	Independent Variables	Coefficients	S. Error	Z- Values	
1	Peacock- Wiseman	LRE	LRY	0.3689*	-0.1630	2.2626	
			DV	-0.1889	-0.0207	-9.1419	
			Trend	0.0540	-0.0038	14.1511	
			Constant	5.8576			
2	Gupta	LREP	LYP	0.2770*	-0.0944	2.9349	
			DV	-0.2617	-0.0348	-7.5159	
			Trend	0.0422	-0.0036	11.6111	
			Constant	5.1707			
3	Goffman	LRE	LYP	-0.1229	-0.0946	-1.2990	
			DV	0.2459	-0.0350	-7.0184	
			Trend	0.0669	0.0037	18.2982	
			Constant	5.9533			
4	R.A.Musgrave and P. B. Musgrave	LNEY	LYP	-0.6359*	-0.1025	-6.2031	
			DV	-0.2611	-0.0374	-6.9739	
			Trend	0.0403	-0.0039	10.2909	
			Constant	4.2723			
5	Mann	LNEY	LY	-0.8052*	-0.1090	-7.3889	
			DV	-0.2413	-0.0340	-7.0969	
			Trend	0.0600	-0.0061	9.8828	
			Constant	5.3490			
Note	Noto: * Stands for significant for 5% lovel						

TABLE 4: LONG-RUN OF VECTOR ERROR CORRECTION MODEL

After find out the relationship among the variables, now there is need to which type of relationship (short run as well as long run) will exit among both variables. Results of long- run VECM model explores that Peacock & Wiseman, Gupta, Musgrave and Mann versions are statistical significant at five percent critical value except Goffman version. Standard Error shows the speed of adjustment on equilibrium restore in a year among the variables.

SHORT RUN OF VECTOR ERROR CORRECTION MODEL

The behavior of the short run relationship between expenditure and economic growth for all the five versions of Wagner's hypothesis has been shown in Table. The co-integration equation1 has been checked out at five percent level of significance.

Short r	un					
S. No.	Versions	Variables		Coefficients	S. Error	Z- Value
1	Peacock and Wiseman	Co-integrating Equ.	D(LRE)	-1.1478*	0.4966	-2.3115
			D(LRY)	0.1979	0.1386	1.4276
		D(LRE(-1))		-0.2604*	0.1056	-2.4650
		D(LRY(-1))		0.7645	0.9295	0.8225
		DV(LRE)		0.1121	0.1124	0.9974
		DV(LRY)		-0.0514	0.0314	-1.6374
		C(LRE)		-0.1021	0.1163	-0.8775
		C(LRY)		0.0651*	0.0325	2.0033
2	Gupta	Co-integrating Equ.	D(LREP)	-0.8811*	0.1824	-4.8319
			D(LYP)	-0.3008*	0.1030	-2.9204
		D(LREP(-1))		-0.0156	0.0921	-0.1698
		D(LYP(-1))		-0.8511*	0.3366	-2.5286
		DV(LREP)		0.0623	0.0552	1.1284
		DV(LYP)		0.0308	0.0312	0.9887
		C(LREP)		0.0691*	0.0152	4.5338
		C(LYP)		0.0394*	0.0086	4.5781
3	Goffman	Co-integrating Equ.	D(LRE)	-0.7945*	-0.1801	-4.4110
			D(LYP)	-0.3280*	-0.0975	-3.3656
		D(LRE(-1))		-0.0244	-0.0893	-0.2737
		D(LYP(-1))		-0.9057*	-0.3331	-2.7193
		DV(LRE)		0.1058	-0.0619	1.7100
		DV(LYP)		0.0326	-0.0335	0.9737
		C(LRE)		0.0843*	-0.0163	5.1689
		C(LYP)		0.0386*	-0.0088	4.3746
4	R.A. and P. B. Musgrave	Co-integrating Equ.	D(LNEY)	-0.4324*	0.1946	-2.2221
			D(LYP)	-0.3276*	0.0944	-3.4713
		D(LNEY(-1))		0.0027	0.0891	0.0305
		D(LYP(-1))		-0.5151	0.3274	-1.5732
		DV(LNEY)		0.0612	0.0684	0.8951
1.00		DV(LYP)		0.0327	0.0332	0.9868
		C(LNEY)		0.0300	0.0182	1.6438
		C(LVP)		0.0457*	0.0088	5.1655
5	Mann	Co-integrating Equ.	D(LNEY)	-0.5396*	0.2044	-2.6406
5	Mann	Co-integrating Equ.	D(LNEY) D(LY)	-0.5396* -0.3267*	0.2044 0.0979	-2.6406 -3.3361
5	Mann	Co-integrating Equ.	D(LNEY) D(LY)	-0.5396* -0.3267* -0.0067	0.2044 0.0979 0.0888	-2.6406 -3.3361 -0.0751
5	Mann	Co-integrating Equ. D(LNEY(-1)) D(LY(-1))	D(LNEY) D(LY)	-0.5396* -0.3267* -0.0067 -0.4158	0.2044 0.0979 0.0888 0.3136	-2.6406 -3.3361 -0.0751 -1.3257
5	Mann	Co-integrating Equ. D(LNEY(-1)) D(LY(-1)) DV(LNEY)	D(LNEY) D(LY)	-0.5396* -0.3267* -0.0067 -0.4158 0.0824	0.2044 0.0979 0.0888 0.3136 0.0679	-2.6406 -3.3361 -0.0751 -1.3257 1.2127
5	Mann	Co-integrating Equ. D(LNEY(-1)) D(LY(-1)) DV(LNEY) DV(LNEY) DV(LY)	D(LNEY) D(LY)	-0.5396* -0.3267* -0.0067 -0.4158 0.0824 0.0211	0.2044 0.0979 0.0888 0.3136 0.0679 0.0325	-2.6406 -3.3361 -0.0751 -1.3257 1.2127 0.6478
5	Mann	Co-integrating Equ. D(LNEY(-1)) D(LY(-1)) DV(LNEY) DV(LY) C(LNEY)	D(LNEY) D(LY)	-0.5396* -0.3267* -0.0067 -0.4158 0.0824 0.0211 0.0379	0.2044 0.0979 0.0888 0.3136 0.0679 0.0325 0.0259	-2.6406 -3.3361 -0.0751 -1.3257 1.2127 0.6478 1.4646

TABLEE

VOLUME NO. 5 (2015), ISSUE NO. 01 (JANUARY)

The estimates of the table show that in the case of Peacock-Wiseman version, Z value is -2.3 this is more than tabulated value at five percent level (1.96), it rejects the null hypothesis. So it is statically significant at five percent critical value the coefficient of past error term is negative value is -1.15 and error correction term is 0.49, this result as per the validity of Co-integration model means it is supporting that past error term should bear negative coefficient value. Similar type results are found for all the reaming four versions where the coefficient value is statically significant with negative sign. These results indicate that any type of disequilibrium in the past is corrected very fast for long run equilibrium. The results of this table show the sign of applicability of five versions of Wagner's law in the short run

GRANGER CAUSALITY TEST

There is need to know about that whether there is unidirectional and bi-directional relationship among economic growth and public expenditure in India. For this purpose Granger- Causality test has been applied.

TABLE 6: PAIR WISE GRANGER CAUSALITY TESTS							
Null Hypothesis:	Obs.	F-Statistic	Probability				
LY does not Granger Cause LRE	41	5.3863	0.02576				
LRE does not Granger Cause LY		0.01287	0.91029				
LY does not Granger Cause LREP	41	8.11678	0.00704				
LREP does not Granger Cause LY		0.45418	0.50444				
LYP does not Granger Cause LREP	41	5.56738	0.02354				
LREP does not Granger Cause LYP		0.27586	0.60248				
LY does not Granger Cause LGRFCE	41	6.93919	0.01213				
LGRFCE does not Granger Cause LY		0.02795	0.86811				
LYP does not Granger Cause LGRFCE	41	4.9724	0.03174				
LGRFCE does not Granger Cause LYP		0.24126	0.62613				

After having a look on statistics the results of the table it is clear that the null hypothesis which is 'LY does not Granger Cause LRE' is significantly rejected i. e. LY significantly Granger causes LRE at 2.6 percent level while second row of the table reports that the null hypothesis 'LRE does not Granger Cause LY' is insignificantly accepted. Taking together both rows of the table the results reveal that in the case of Wiseman-Peacock version, there is uni-directional relationship between LRE and LY. All the results of the table show that some variables are Granger cause to other variables like, LY Granger Cause LREP, LYP Granger Cause LREP and, LY Granger Cause LRGFCE, LYP Granger Cause LRGFCE. So there is uni-directional relationship among the variables. As the growth variables are causing the expenditure's variable which is the theory of Wagner's law. Therefore, results of causing indicating the applicability of Wagner's Law in India.

4. CONCLUSION

The main focus of this study is to check out the relationship between Economic growth and Public expenditure in India that was the law given by Wagner. This study checks out the applicability of six versions of Wagner's law in India during 1970-71 to 2011-12 by different econometric techniques. For this purpose some variables of growth and public expenditure are selected on the bases of six versions of Wagner's Law. For analysis, the data unit root test is used like Augmented Dickey Fuller (ADF) and Phillips Perron (PP) test to check the stationary of the data. In ADF and PP test all the variables become non-stationary at level of intercept except LY and LYP which becomes stationary at intercept. Then in trend and intercept all the variables become non-stationary at level form. Finally, all the data for variables become stationary at first difference on intercept and trend and intercept in both the models. As per the results of co-integration model five versions like Peacock-Wiseman, Gupta, Goff man, Musgrave, and Mann show that the null hypothesis is rejected and is significant at five percent level, but it shows only one level of co-integration between the variables. But the result of Pryor is the opposite of the five versions of Wagner's Law. Granger Cause results show that there is uni-directional relationship among the variables. As the growth variables are causing the expenditure's variable which is the theory of Wagner's law. Therefore, results of causing indicating the applicability of Wagner's Law in India. However the findings of this study gave a deeper understanding about the relationship between Economic growth and Public expenditure. In future, the researchers can check sector wise performance of Economic growth and Public expenditure in India and other countries.

REFERENCES

- 1. Afzal M. and Q. Abbas, "Wagner's Law in Pakistan: Another look" *Journal of Economics and International Finance*, Vol. 2, 1 (2010), pp.12-19.
- Akitoby B., B. Clements, S. Gupta and G. Inchanste, "Public spending, Voracity and Wagner's law in developing countries" *European Journal Economy*, Vol. 22 (2006), pp. 908-924.
- 3. Alleyne D., "Testing for Wagner's law in Jamaica, Guyana, Barbados and Trinidad and Tobago is there a spurious relationship?" *Social and Economic Studies*, Vol. 48, 3 (1999), pp. 127-135.
- 4. Asterou D., Apllied Econometrics. New York: Palgrave Macmillan (2006).
- 5. Bird R. M., "Wagner's Law of Expanding State Activity," Public Finance, Vol. 2, 1 (1971), pp. 1-26.
- Chandra R., "Government Size and Economic Growth: An Investigation of Causality in India," Indian Economic Review, New Series, Vol.39, 2 (2004), pp. 295-314.
- 7. Chimobi O. P., "Government Expenditure and National Income: A Causality Test for Nigeria," *European Journal of Economic and political studies (EJEPS)*, Vol. 2 (2009).
- 8. Dakurah H. et.al., "Defense Spending and Economic Growth in Developing Countries: A Causality Analysis," *Journal of Policy Modeling*, Vol. 23, 6 (2001), pp. 651-658.
- 9. Gupta S. P., "Public expenditure and economic development: A cross-section analysis," Finanzarchiv, Vol. 28 (1968), pp. 26-41.
- 10. Huang C. J., "Government Expenditures in China and Taiwan: Do they Follow Wagner's Law?," Journal of Economic Development, Vol. 31, 2 (2006).
- 11. Husain M. I., "Keynes versus Wagner: aggregated and disaggregated analysis of public expenditure in selected South Asian countries," International Research Journal of Finance and Economics, Vol. 67 (2011).
- 12. Ighodaro C. A. U. and D. E. Oriakhi, "Does the relationship between government expenditure and economic growth follow Wagner's Law in Nigeria?," Annuals of the University of Petrosani, Economics, Vol. 10, 2 (2010), pp.185-198.
- 13. Kesavarajah M., "Wagner's Law in Sri Lanka: An Econometric Analysis," International Scholarly Research Network ISRN Economics, Article ID. 573826 (2012).
- 14. Khan A. H., "Wagner's 'Law' and the Developing Economy: A Time Series Evidence from Pakistan," *The Indian Journal of Economics,* Vol. 38 (1990), pp. 115-123.
- 15. Koop G. and Dale J. Poirier, "An Empirical Investigation of Wagner's Hypotheses by Using a Model Occurrence Framework," *Journal of the Royal Statistics* Society, series-A (Statistic in Society), Vol. 158 (1995), pp. 123-141.
- 16. Ray S. and I. A. Ray, "On the Relationship between Government's Developmental Expenditure and economics Growth in India: A Co- integration Analysis," Advances in Applied Economics and Finance, Vol. 1 (2012).
- 17. Rehman H. Ur, I. Ahmed and M. S. Awan, "Testing Wagner's Law for Pakistan: 1972-2004," Pakistan Economic and social Review, Vol. 45, 2 (2007), pp. 155-166.

VOLUME NO. 5 (2015), ISSUE NO. 01 (JANUARY)

- Sahni B. S. and B. Singh, "On the Causal Directions between National Income and Government Expenditure in Canada," Public Finance, Vol. 39, 3 (1984), pp. 359-393.
- 19. Sahoo P., "Wagner's hypothesis: Future empirical evidence from India," Journal of Indian School Political Economy, Vol. 13, 1 (2001), pp. 45-53.
- 20. Singh B. and S. Sahni, "Causality between Public Expenditure and National Income," The Review of Economics and Statistics, Vol. 66, 4 (1984), pp. 630-644.
- 21. Verma S., "Does the Indian Economy Support Wagner's Law?: An Econometric Analysis," *Eurasian Journal of Business and Economics* (2010), pp. 77-91.



REQUEST FOR FEEDBACK

Dear Readers

At the very outset, International Journal of Research in Commerce, Economics & Management (IJRCM) acknowledges & appreciates your efforts in showing interest in our present issue under your kind perusal.

I would like to request you to supply your critical comments and suggestions about the material published in this issue as well as on the journal as a whole, on our E-mail**infoijrcm@gmail.com** for further improvements in the interest of research.

If youhave any queries please feel free to contact us on our E-mail infoijrcm@gmail.com.

I am sure that your feedback and deliberations would make future issues better – a result of our joint effort.

Looking forward an appropriate consideration.

With sincere regards

Thanking you profoundly

Academically yours

Sd/-Co-ordinator

DISCLAIMER

The information and opinions presented in the Journal reflect the views of the authors and not of the Journal or its Editorial Board or the Publishers/Editors. Publication does not constitute endorsement by the journal. Neither the Journal nor its publishers/Editors/Editorial Board nor anyone else involved in creating, producing or delivering the journal or the materials contained therein, assumes any liability or responsibility for the accuracy, completeness, or usefulness of any information provided in the journal, nor shall they be liable for any direct, indirect, incidental, special, consequential or punitive damages arising out of the use of information/material contained in the journal. The journal, nor its publishers/Editors/ Editorial Board, nor any other party involved in the preparation of material contained in the journal represents or warrants that the information contained herein is in every respect accurate or complete, and they are not responsible for any errors or omissions or for the results obtained from the use of such material. Readers are encouraged to confirm the information contained herein with other sources. The responsibility of the contents and the opinions expressed in this journal is exclusively of the author (s) concerned.

ABOUT THE JOURNAL

In this age of Commerce, Economics, Computer, I.T. & Management and cut throat competition, a group of intellectuals felt the need to have some platform, where young and budding managers and academicians could express their views and discuss the problems among their peers. This journal was conceived with this noble intention in view. This journal has been introduced to give an opportunity for expressing refined and innovative ideas in this field. It is our humble endeavour to provide a springboard to the upcoming specialists and give a chance to know about the latest in the sphere of research and knowledge. We have taken a small step and we hope that with the active cooperation of like-minded scholars, we shall be able to serve the society with our humble efforts.

Our Other Fournals







AL OF RESE

NATIONAL JOURNAL

INTERNATIONAL JOURNAL OF RESEARCH IN COMMERCE, ECONOMICS & MANAGEMENT A Monthly Double-Blind Peer Reviewed (Refereed/Juried) Open Access International e-Journal - Included in the International Serial Directories <u>http://ijrcm.org.in/</u>